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Abstract 

In the current era, one of the challenges in the field of Fiqh and law is the issues related 

to women. Among these challenges, marriage to a minor wife and its corresponding 

issues, such as the permissibility or non-permissibility of sexual enjoyment from minor 

wife, which is of double importance due to the connection with the rights of the child. 

By challenging the axioms assumed in the traditional Fiqh approach, such as the 

permission of sexual enjoyment from minor wife, critical approaches are seeking to 

reread and update Fiqh-Ijtihad thinking in the contemporary world. 

This essay, through rethinking in reasons, challenging the famous Fiqh theory about 

the permissibility of sexual enjoyment from minor wife. By addressing Ibahe principle, 

considered it unfounded and regarding the moral and intellectual obscenity of this 

action, application of evidence for permissibility of enjoying the wife, considered it the 

withdrawal from the subject of the minor and believes that it is possible to prevent 

misunderstandings about the rulings of the Sharia by re-reading it in the epistemological 

system of religion and paying attention to the goals of the Sharia. Also, some rational 

principles such as women's freedom, rationality, behaving in honorable manner, and the 

dominating of rules such as justice, expediency, forbidden of harm, negation of harm, 
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etc., on all the rules of the family sphere, indicate the respect-oriented approach of 

religion in this regard. 

Keywords: Sexual Enjoyment from Wife, Minor Wife, Minor Marriage, Sexual 

Pleasure from Child. 
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